

BY THE GOVERNING BODY OF THE CITY OF OCEAN CITY, NJ

DATE RECEIVED: Tuesday, February 10, 2015 @ 2:00 PM, EST

CONTRACT #: 15-07

PROPOSAL NAME: Supply, Installation, Removal & Storage of Holiday Decorations for Various Locations

	NAME, ADDRESS AND	Downtown Docorations Inc											
,			Downtown Decorations, Inc.										
	BID OF EACH BIDDER	6724 Joy Road											
		East Syracuse, NY 13057											
		Theodore Peterson, President											
		Ph: (315) 432-0646											
		Fx: (315) 432-1948											
		email: tpeterson@downtowndec											
<u> </u>													
TEM NO	DESCRIPTION	QTY	UNIT COST			UNIT COST			UNIT COST			UNIT COST	
1.0 LOC	ATIONS: VARIOUS LOCATIONS/AREAS		-	8	-	=======================================		=======================================					
	18" inch bows for side-mount wreaths, 3D red velvet structural bow												
1.1	with UV protection	each	\$ 46.00										
1.2	18" inch 3D red velvet structural bow with UV protection	each	\$ 46.00										
	18" inch 3D red velvet structural bow for swags with UV protection	each	\$ 46.00										
	24" inch red velvet structural bow for cross-street	each	\$ 94.00										
	24" inch red velvet structural bows for pole wraps with UV protection	each	\$ 94.00										
	24" inch red velvet structural bow for cross streets with UV protection	each	\$ 94.00										
	36" inch side-mount deluxe mountain pine 375 tips wreath solid steel	odori	V 71100										
	cold roll frame, lit with (30) WW C7 LEDs 3 diodes wiring 18 AWG spt1												
	wire SJT leads 8' 16 AWG	each	\$ 346.00										
	36" inch wall-mount deluxe mountain pine wreath tip count 300 lit with												
	150 5mm LEDs, plush garland wreath solid steel 4.2 mm 3D cold roll												
	frame, wiring 18AWG spt1 wire SJT leads 8' 16AWG 72" inch deluxe mountain pine wreath, 1000 tips, 7.9mm steel with 36	each	\$ 328.00										
	inch red velvet structural bow, lit with 1000 5mm LEDs	each	\$ 1,255.00										
1.7	96" inch 3D wreath lit with 120 WW C7 3 diodes LEDs with 36" inch red	Cacii	1,233.00										
	velvet structural bow with UV protection wiring 18AWG spt1 wire SJT												
1.10	leads 8' 16AWG	each	\$ 2,197.00										
	3' foot 3D Snow Burst Tree Topper with 132 C7 LED lights, solid steel												
	cold roll frame, wiring 18AWG spt1 wire SJT leads 8' 16AWG	each	\$ 595.00										
	20' foot 14" inch deluxe mountain pine garland pole wrap 48 tips per	!-											
	foot, lit with 40 WW C7 LED's 50' foot single drape, 14" inch deluxe mountain pine cross-street with 50	each	\$ 279.00										
	inch wreath, 48 tips per foot, galvanized wire UV resistant, lit with 102												
	LEDs wiring 18AWG spt1 wire SJT leads 8' 16AWG	each	\$ 1,688.00										
	25' foot plush garland pole swags 14" inch deluxe mountain pine	Juon	\$ 1,000.00										
	garland pole wrap, 48 tips per foot, lit with 40 WW C7 LEDs wiring 18												
	AWG spt1 wire SJT leads 8' 16AWG	per foot	\$ 13.92										
	25' foot plush garland pole swags, 14" inch deluxe mountain pine												
	garland pole wrap, 48 tips per foot, lit with 40 WW C7 LEDs wiring												
1.15	18AWG spt 1 wire SJT leads 8' 16 AWG 50' foot single drape, 14" inch deluxe mountain pine cross-street with 50	each	\$ 348.00										
1 16	inch wreath, 48 tips per foot, galvanized wire UV	each	\$ 1,688.00										
1.10	garranned o .	Gauri	Ψ 1,000.00										

BY THE GOVERNING BODY OF THE CITY OF OCEAN CITY, NJ

DATE RECEIVED: Tuesday, February 10, 2015 @ 2:00 PM, EST CONTRACT #: 15-07

PROPOSAL NAME: Supply, Installation, Removal & Storage of Holiday Decorations for Various Locations

NAME, ADDRESS AND Downtown Decorations, Inc. 6724 Joy Road **BID OF EACH BIDDER** East Syracuse, NY 13057 Theodore Peterson, President Ph: (315) 432-0646 Fx: (315) 432-1948 email: tpeterson@downtowndecorations.com UNIT COST UNIT COST **UNIT COST** UNIT COST TEM NO DESCRIPTION QTY 1.17 Live Tree Kit each 147.00 1.18 10' foot jumper leads for wall-mount wreaths 19.98 each Set of 5mm WA WW LED mini 4" inch OC 70 light 24' male female 1.19 connection commercial use 19.50 per set Set of 5mm WA WW LED minis, 70 warm white, wide angle LED lights 1.20 4" inch spacing 19.50 per set 7 LEDs, 12" inch on center, stringer of 100 foot lights, wiring 18AWG 1.21 spt1 wire SJT leads 8' 16 AWG each 165.00 1.22 C7 LEDs, warm white, 3 diodes each 1.15 1.23 8' foot leads & butt connectors each 22.50 1,24 Bow Holder Kit, 14" inch rolled Steel each 38.00 1.25 Light line C9 light spool, 12" inch spacing, 10 amp. 18AWG SPT wire UL per foot 0.35 1.26 Shingle Clips each 0.55 1.27 C9 LED bulbs, 4 diodes each \$ 1.30 2.0 ANNUAL INSTALLATION FEES 2.1 2015 COST NOT TO COST NOT TO COST NOT TO COST NOT TO LOCATION EXCEED **EXCEED EXCEED EXCEED HOURLY RATE** HOURS HOURLY RATE HOURLY RATE **HOURS HOURLY RATE** HOURS **HOURS** 2.1.1 9th Street Entranceway Decor - Bay Avenue to West Avenue 100.65 24 \$ 2,415.60 2.1.2 City Hall Decor - 861 Asbury Avenue 100.65 98 \$ 9.863.70 2.1.3 City Hall Tree - 861 Asbury Avenue 100.65 64 \$ 6.441.60 2.1.4 9th Street Park Decor - 9th Street & Asbury Avenue 100.65 79 \$ 7,951.35 2.1.5 9th Street Gateway Park Decor - 9th Street & West Avenue 100.65 1,207.80 2.1.6 Clock - 9th Street & the Boardwalk 100.65 12 \$ 1,207.80 2.1.7 Asbury Avenue Business District Decor - 6th to 14th Streets 178 \$ 17,915.70 100.65 2.1.8 Music Pier - Moorlyn Terrace & the Boardwalk 100.65 24 \$ 2.415.60 2.1.9 Welcome Center Decor - Route 52 Causeway 100.65 68 \$ 6,844.20 2.1.10 34th Street Welcome Center Decor - 34th Street & Bay Avenue 36 \$ 100.65 3,623.40 TOTAL ANNUAL INSTALLATION FEES FOR 2015 \$ 59,886.75 2.2 2016 COST NOT TO COST NOT TO COST NOT TO COST NOT TO OCATION **HOURLY RATE** HOURS EXCEED HOURLY RATE **HOURS** EXCEED HOURLY RATE HOURS EXCEED **HOURLY RATE HOURS** EXCEED 2.2.1 9th Street Entranceway Decor - Bay Avenue to West Avenue 104.68 2,512.32 24 \$ 2.2.2 City Hall Decor - 861 Asbury Avenue 104.68 98 \$ 10,258.64 2.2.3 City Hall Tree - 861 Asbury Avenue 104.68 64 \$ 6,699.52 2,2,4 9th Street Park Decor - 9th Street & Asbury Avenue 104.68 79 \$ 8,269.7 \$ 2.2.5 9th Street Gateway Park Decor - 9th Street & West Avenue 104.68 12 \$ 1,256.16 12 \$ 1,256.1 2.2.6 Clock - 9th Street & the Boardwalk 104.68 2.2.7 Asbury Avenue Business District Decor - 6th to 14th Streets 178 \$ 18,633.04 104.68 2.2.8 Music Pier - Moorlyn Terrace & the Boardwalk 104.68 24 \$ 2,512.32 2.2.9 Welcome Center Decor - Route 52 Causeway 104.68 68 \$ 7,118.24 2.2.10 34th Street Welcome Center Decor - 34th Street & Bay Avenue 104.68 36 \$ 3,768.48 \$ TOTAL ANNUAL INSTALLATION FEES FOR 2016 \$ 62,284.60

DATE RECEIVED: Tuesday, February 10, 2015 @ 2:00 PM, EST CONTRACT #: 15-07 PURCHASING DIVISION SUMMARY OF BID PROPOSALS PROPOSAL NAME: Supply, Installation, Removal & Storage of Holiday Decorations for Various Locations BY THE GOVERNING BODY OF THE CITY OF OCEAN CITY, NJ NAME, ADDRESS AND Downtown Decorations, Inc. BID OF EACH BIDDER 6724 Joy Road

TOTAL ANNUAL REMOVAL FEES FOR 2016

\$ 47,524.72

	East Syracuse, NY 13057										
	Theodore Peterson,	President									
	meddore r eterson,	Tresident									
	Ph: (315) 432-064	6									
	Fx: (315) 432-1948										
	email: tpeterson@downtowndecorations.com										
2.3 Installation of the Supplied Items per Location-Year Three - 2017										<u> </u>	
LOCATION	HOURLY RATE	HOURS EXCEED	HOURLY RATE	HOURS	COST NOT TO EXCEED	HOURLY RATE	HOURS	COST NOT TO EXCEED	HOURLY RATE	HOURS	COST NOT TO EXCEED
2.3.1 9 th Street Entranceway Decor - Bay Avenue to West Avenue	\$ 108.87	24 \$ 2,612.88	\$ -		\$ -	\$ -		\$ -	\$ -	1	\$ -
2.3.2 City Hall Decor - 861 Asbury Avenue	\$ 108.87	98 \$ 10,669.26	\$ -		\$ -	\$ -		\$ -	\$ -	i	\$ -
2.3.3 City Hall Tree - 861 Asbury Avenue	\$ 108.87	64 \$ 6,967.68	\$ -		\$ -	\$ -		\$ -	\$ -		\$ -
2.3.4 9th Street Park Decor - 9 th Street & Asbury Avenue	\$ 108.87	79 \$ 8,600.73	\$ -		\$ -	\$ -		\$ -	\$ -		\$ -
2.3.5 9th Street Gateway Park Decor - 9 th Street & West Avenue	\$ 108.87	12 \$ 1,306.44	\$ -		\$ -	\$ -		\$ -	\$ -		\$ -
2.3.6 Clock - 9th Street & the Boardwalk	\$ 108.87	12 \$ 1,306.44	\$ -		\$ -	\$ -		\$ -	\$ -		\$ -
2.3.7 Asbury Avenue Business District Decor - 6 th to 14 th Streets	\$ 108.87	178 \$ 19,378.86	\$ -		\$ -	\$ -		\$ -	\$ -		\$ -
2.3.8 Music Pier - Moorlyn Terrace & the Boardwalk	\$ 108.87	24 \$ 2,612.88	\$ -		\$ -	\$ -		\$ -	\$ -		\$ -
2.3.9 Welcome Center Decor - Route 52 Causeway 2.3.10 34th Street Welcome Center Decor - 34 th Street & Bay Avenue	\$ 108.87	68 \$ 7,403.16	\$ -		\$ - \$ -	\$ -		\$ -	\$ -		\$ -
	\$ 108.87	36 \$ 3,919.32	\$ -		\$ -	\$ -		\$ -	\$ -		\$ -
TOTAL ANNUAL INSTALLATION FEES FOR 2017		\$ 64,777.65									
3.0 ANNUAL REMOVAL FEES											
3.1 Removal of the Supplied Items per Location-Year One - 2015		COST NOT TO			COST NOT TO			COST NOT TO			COST NOT TO
LOCATION	HOURLY RATE	HOURS EXCEED	HOURLY RATE	HOURS	EXCEED	HOURLY RATE	HOURS	EXCEED	HOURLY RATE	HOURS	EXCEED
3.1.1 9 th Street Entranceway Decor - Bay Avenue to West Avenue	\$ 100.65	15 \$ 1,509.75	\$ -		\$ -	\$ -		\$ -	\$ -	i	\$ -
3.1.2 City Hall Decor - 861 Asbury Avenue	\$ 100.65	52 \$ 5,233.80	\$ -		\$ -	\$ -		\$ -	\$ -	i	\$ -
3.1.3 City Hall Tree - 861 Asbury Avenue	\$ 100.65	42 \$ 4,227.30	\$ -		\$ -	\$ -		\$ -	\$ -	i .	\$ -
3.1.4 9th Street Park Decor - 9 th Street & Asbury Avenue	\$ 100.65	45 \$ 4,529.25	\$ -		\$ -	\$ -		\$ -	\$ -	<u> </u>	\$ -
3.1.5 9th Street Gateway Park Decor - 9 th Street & West Avenue	\$ 100.65	12 \$ 1,207.80	\$ -		\$ -	\$ -		\$ -	\$ -		\$ -
3.1.6 Clock - 9th Street & the Boardwalk	\$ 100.65	12 \$ 1,207.80	\$ -		\$ -	\$ -		\$ -	\$ -		\$ -
3.1.7 Asbury Avenue Business District Decor - 6 th to 14 th Streets	\$ 100.65	165 \$ 16,607.25	\$ -		\$ -	\$ -		\$ -	\$ -	j	\$ -
3.1.8 Music Pier - Moorlyn Terrace & the Boardwalk	\$ 100.65	24 \$ 2,415.60	\$ -		\$ -			\$ -	\$ -		\$ -
3.1.9 Welcome Center Decor - Route 52 Causeway 3.1.10 34th Street Welcome Center Decor - 34 th Street & Bay Avenue	\$ 100.65	48 \$ 4,831.20	\$ -		\$ -	\$ -		\$ -	\$ -		\$ -
	\$ 100.65	36 \$ 3,623.40	\$ -		\$ -	\$ -		\$ -	\$ -		\$ -
TOTAL ANNUAL REMOVAL FEES FOR 2015 3.2 Removal of the Supplied Items per Location-Year Two - 2016		\$ 45,393.15									+
3.2 Removal of the Supplied Items per Location-Year Two - 2016		COST NOT TO			COST NOT TO			COST NOT TO			COST NOT TO
LOCATION	HOURLY RATE	HOURS EXCEED	HOURLY RATE	HOURS	EXCEED	HOURLY RATE	HOURS	EXCEED	HOURLY RATE	HOURS	EXCEED
3.2.1 9 th Street Entranceway Decor - Bay Avenue to West Avenue	\$ 104.68	15 \$ 1,570.20	\$ -		\$ -	\$ -		\$ -	\$ -		\$ -
3.2.2 City Hall Decor - 861 Asbury Avenue	\$ 104.68	52 \$ 5,443.36	\$ -		\$ -	\$ -		\$ -	\$ -	.	\$ -
3.2.3 City Hall Tree - 861 Asbury Avenue	\$ 104.68	45 \$ 4,710.60	\$ -		\$ -	\$ -		\$ -	\$ -	j	\$ -
3.2.4 9th Street Park Decor - 9 th Street & Asbury Avenue	\$ 104.68	45 \$ 4,710.60	\$ -		\$ -	-		\$ -	\$ -		\$ -
3.2.5 9th Street Gateway Park Decor - 9 th Street & West Avenue	\$ 104.68	12 \$ 1,256.16	\$ -		\$ -	-		\$ -	\$ -		\$ -
3.2.6 Clock - 9th Street & the Boardwalk	\$ 104.68	12 \$ 1,256.16	\$ -		\$ -	-		\$ - \$ -	\$ -		\$ -
3.2.7 Asbury Avenue Business District Decor - 6 th to 14 th Streets 3.2.8 Music Pier - Moorlyn Terrace & the Boardwalk	\$ 104.68 \$ 104.68	165 \$ 17,272.20 24 \$ 2,512.32	\$ - \$ -		ф - ¢	\$ -		э - ¢	\$ - \$ -		
3.2.9 Welcome Center Decor - Route 52 Causeway	\$ 104.68 \$ 104.68	48 \$ 5,024.64	\$ - \$ -		ф - ¢	ф - ¢		¢ -	\$ - \$ -	·	\$ -
3.2.10 34th Street Welcome Center Decor - 34 th Street & Bay Avenue	\$ 104.68 \$ 104.68	36 \$ 3,768.48	\$ -		\$ -	\$ -		\$ -	\$ -		\$ -
3.2.10 o the other personal pe	¥ 104.00	30 ψ 3,700.40	*		· -	·		*			Ψ .

4.2.8 Music Pier - Moorlyn Terrace & the Boardwalk
4.2.9 Welcome Center Decor - Route 52 Causeway

TOTAL FOR ALL LOCATIONS

4.2.10 34th Street Welcome Center Decor - 34th Street & Bay Avenue

PROPOSAL NAME: Supply, Installation, Removal & Storage of Holiday Decorations for Various Locations BY THE GOVERNING BODY OF THE CITY OF OCEAN CITY, NJ NAME, ADDRESS AND Downtown Decorations, Inc. **BID OF EACH BIDDER** 6724 Joy Road East Syracuse, NY 13057 Theodore Peterson, President Ph: (315) 432-0646 Fx: (315) 432-1948 email: tpeterson@downtowndecorations.com 3.3 Removal of the Supplied Items per Location-Year Three - 2017 COST NOT TO COST NOT TO COST NOT TO COST NOT TO LOCATION HOURLY RATE HOURS EXCEED HOURLY RATE HOURS **EXCEED** HOURLY RATE HOURS EXCEED HOURLY RATE **HOURS EXCEED** 3.3.1 9th Street Entranceway Decor - Bay Avenue to West Avenue 108.87 1.633.0 3.3.2 City Hall Decor - 861 Asbury Avenue 108.87 52 \$ 5,661.24 3.3.3 City Hall Tree - 861 Asbury Avenue 4,572.54 108.87 42 \$ 3,3,4 9th Street Park Decor - 9th Street & Asbury Avenue 108.87 45 \$ 4.899.1 \$ 3.3.5 9th Street Gateway Park Decor - 9th Street & West Avenue 108.87 12 \$ 1,306.44 12 \$ 3.3.6 Clock - 9th Street & the Boardwalk 108.87 1,306.44 3.3.7 Asbury Avenue Business District Decor - 6th to 14th Streets 108.87 165 \$ 17,963.55 3,3,8 Music Pier - Moorlyn Terrace & the Boardwalk 24 \$ 108.87 2,612.88 3.3.9 Welcome Center Decor - Route 52 Causeway 108.87 48 \$ 5,225.76 3.3.10 34th Street Welcome Center Decor - 34th Street & Bay Avenue 108.87 36 \$ 3.919.32 \$ TOTAL ANNUAL REMOVAL FEES FOR 2017 \$ 49,100.37 4.0 ANNUAL STORAGE FEES 4.1 Storage of the Supplied Items per Location-Year One - 2015 ANNUAL ANNUAL STORAG ANNUAL ANNUAL LOCATION STORAGE RATE RATE STORAGE RATE STORAGE RAT 4.1.1 9th Street Entranceway Decor - Bay Avenue to West Avenue 4.1.2 City Hall Decor - 861 Asbury Avenue 4.1.3 City Hall Tree - 861 Asbury Avenue 4.1.4 9th Street Park Decor - 9th Street & Asbury Avenue 9th Street Gateway Park Decor - 9th Street & West Avenue 4.1.5 Clock - 9th Street & the Boardwalk 4.1.6 4.1.7 Asbury Avenue Business District Decor - 6th to 14th Streets 4.1.8 Music Pier - Moorlyn Terrace & the Boardwalk 4.1.9 Welcome Center Decor - Route 52 Causeway 4.1.10 34th Street Welcome Center Decor - 34th Street & Bay Avenue TOTAL FOR ALL LOCATIONS \$ 8,251.00 4.2 Storage of the Supplied Items per Location-Year Two - 2016 ANNUAL STORAG ANNUA ANNUAL STORAGE RATE LOCATION STORAGE RATE STORAGE RATE RATE 4.2.1 9th Street Entranceway Decor - Bay Avenue to West Avenue City Hall Decor - 861 Asbury Avenue 4.2.2 4.2.3 City Hall Tree - 861 Asbury Avenue 4.2.4 9th Street Park Decor - 9th Street & Asbury Avenue 4.2.5 9th Street Gateway Park Decor - 9th Street & West Avenue 4.2.6 Clock - 9th Street & the Boardwalk 4.2.7 Asbury Avenue Business District Decor - 6th to 14th Streets

\$

8,251.00

DATE RECEIVED: Tuesday, February 10, 2015 @ 2:00 PM, EST

BY THE GOVERNING BODY OF THE CITY OF OCEAN CITY, NJ

NJ BUSINESS REGISTRATION CERTIFICATE (BRC) SUBMITTED

PUBLIC WORKS CONTRACTORS REGISTRATION SUBMITTED

NUMBER OF COPIES (3):

YES/NO

YES/NO

YES/NO

Υ

Υ

NAME, ADDRESS AND Downtown Decorations, Inc. BID OF EACH BIDDER 6724 Joy Road East Syracuse, NY 13057 Theodore Peterson, President Ph: (315) 432-0646 Fx: (315) 432-1948 email: tpeterson@downtowndecorations.com 4.3 Storage of the Supplied Items per Location-Year Three - 2017 ANNUAL ANNUAL STORAGE ANNUAL ANNUAL STORAGE RATE OCATION RATE STORAGE RATE STORAGE RATE 4.3.1 9th Street Entranceway Decor - Bay Avenue to West Avenue 4.3.2 City Hall Decor - 861 Asbury Avenue 4.3.3 City Hall Tree - 861 Asbury Avenue 4.3.4 9th Street Park Decor - 9th Street & Asbury Avenue 4.3.5 9th Street Gateway Park Decor - 9th Street & West Avenue Clock - 9th Street & the Boardwalk 4.3.7 Asbury Avenue Business District Decor - 6th to 14th Streets 4.3.8 Music Pier - Moorlyn Terrace & the Boardwalk 4.3.9 Welcome Center Decor - Route 52 Causeway 4.3.10 34th Street Welcome Center Decor - 34th Street & Bay Avenue \$ \$ 8,251.00 TOTAL FOR ALL LOCATIONS TOTAL COST FOR INSTALLATION, REMOVAL AND STORAGE FOR YEAR 2015 \$ 113,530.90 TOTAL COST FOR INSTALLATION, REMOVAL AND STORAGE FOR YEAR 2016 \$ 118,060.32 TOTAL COST FOR INSTALLATION, REMOVAL AND STORAGE FOR YEAR 2017 \$ 122,129.02 Required Information BID DEPOSIT/BOND: YES/NO YES/NO YES/NO YES/NO CONSENT OF SURETY YES/NO Υ YES/NO YES/NO YES/NO RIGHT TO EXTEND-TIME FOR AWARD: YES/NO Υ YES/NO YES/NO YES/NO PUBLIC DISCLOSURE STATEMENT YES/NO Υ YES/NO YES/NO YES/NO NON-COLLUSION AFFIDAVIT YES/NO Υ YES/NO YES/NO YES/NO MANDATORY EQUAL EMPLOYMENT OPPORTUNITY LANGUAGE YES/NO Υ YES/NO YES/NO YES/NO Υ AFFIRMATIVE ACTION COMPLIANCE YES/NO YES/NO YES/NO YES/NC SUBCONTRACTOR'S LIST YES/NO Υ YES/NO YES/NO YES/NO ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA YES/NO YES/NO YES/NO YES/NO Υ MANUFACTURER'S AFFIDAVIT & CERTIFICATE OF ORIGIN: YES/NO Υ YES/NO YES/NO YES/NO DISCLOSURE OF INVESTMENT ACTIVITIES IN IRAN STATEMENT-2 PART FORM YES/NO Υ YES/NO YES/NO YES/NO

YES/NO

YES/NO

YES/NO

DATE RECEIVED: Tuesday, February 10, 2015 @ 2:00 PM, EST

PROPOSAL NAME: Supply, Installation, Removal & Storage of Holiday Decorations for Various Locations

YES/NO

YES/NO

YES/NO

CONTRACT #: 15-07

YES/NO

YES/NO

YES/NO